PURCHASE DIVISION, Advice for approval for credit to contractor

er etions LLP	Prepared by: WO date. WO amount – A	T.D. Murt					
ctions LLP		1 -					
	" o amount – A	-					
	Project name	5000					
	Froject name	Serene Far	ms				
8,19,8 & 6.							
200 200							
Reque	est for payment amount - B		Rs. 52,056/-				
Total	D = B + C		Rs. 61,426/-				
Work	done to		24/06/2020				
Bill da	ate						
01/07/			Bill amount				
01/07/	2020		Rs. 61,426/-				
			-				
-			<u>-</u>				
-			-				
	Amount I , 40% allowance for consum	E - Bills total	Rs. 61,426/-				
		-					
F+G-H)			Do 61 4261				
			Rs. 61,426/-				
			i e e e e e e e e e e e e e e e e e e e				
		-					
□ Yes	□ Excess received □ Shor	t received PE	xplained below				
Yes	Yes D No (explained below)						
□ Yes □	☐ Approved - within acceptable limits ☐ No (explained below), ☐ Yes ☐ No – wait for balance material ☐ No (explained below)						
Advance paid / PDC given (deduct when paying)							
□ Yes –	Rs. /- No						
work Please consider	020 r the bill for processing.						
consider	the bill for processing.						
1							
Procurement	M.D. Accounts	Accountants	s Accounts				
Manager	- receiver		Manager				
	OI bill						
	Manager D	Manager – Paragraphic – receiver of bill	Manager — Accountants — receiver of bill — Accountants				

Notes: 1. In case amount to be credited to contractor and the bills total does not match prepare JV for debit or credit. 2. Attach additional sheets if quantity of bills or DCs is more than the space provided. Clearly mark the space provided with 'see attachment'. 3. Purchase Officer can approve WOs upto Rs. 5,000/-, Purchase Manager and Procurement Manager to approve all bills from 5,000/- to 1,00,000/- 4. Attach JV, Office copy of WO, DCs and bills to this advice. 5. To be approved by accounts manager if value exceeds Rs. 10,000/- 6. MD to approve all bills above Rs. 1,00,000/-

GSTIN: 36HTMPK2743G1ZE

TAX INVOICE

1:

H.No. 13-6-254, Jaffer Guda, Karwan, Hyderabad. (T.S.)

MIS.: SEREN CONST TENTION Invoice No.

GST No .: 36ACVF909P1ZV

Date : 010

Work Order No. :

Place	e of Supply (· S.	VOIR CIGET NO			
S.No.	Product	Qty.	Unit Rs.	Rate	Amount Rs.
0	Treace fainting 0: 112, 21, 28,06	1336	3H.	9	12,024
0	Gate painting vill we: 31	66	sft.	9	594
	por polishy villa. : 8,19	2	20)	2000	4000
(4) (5)	8 Po villa	1000	1-1	16,5375	165375
(5)	6 No Villa	(000	St	18.90	18,900
	v .				
	*			8 8	8
	OFERTIES OF THE STATE OF THE ST				
	0 0 0 0 1 2 1 2 1 2 0 2 1 1 1 1 1 1 1 1		TOTAL	9	52,056
	Brok Betails : *	CGST	GST @ 9 % 4.69		
60.3				9 %	4,685
٠		21	GRAND	TOTAL	61, 426
Rupe	es in Words Sixty one thou	16	v Col	SH KUMAR Signature	

id: 4114-4122

Construction division. Advice for giving credit to contractors/suppliers.

. No. – site bills		2		Date Regist	site bill	s	25 - 6			
gister	00	SCLLP			Site:			Serin farm		
ompany Name:	-		Kumar							
ame of Contractor	<u> </u>	Satish	Kumw							
lature of work		unting	1.0		-20 To	Date	24 -	- 66-20		
Vork done	Fron	n Date (- 0.0		Amo	unt	Contractors		
Sl. Villa/Flat/block r	10.	Qty.	Rate		Units			bill no		
1. 12,21,28,0	6	1336	9		SA		024			
2. 31		66	9		Sft		94			
3. 8, 19		2	2,0	00	NO 8		,000			
4. 8		1000	16,5.	375	Sft		, 538			
5. 6		1000	18.	96	Sf+	18	3,900			
6.										
7.							$-\!$			
8.										
100000										
9.			_				7			
10.	Total	1.	+-			5.	2,056	#		
11.		YES DNC		GS	T bill req		□ YES	$S \square NO.$		
Bill required				1	asuremer		□ Enc			
Measurement &		Required Not require	ed		imate she		□Not	enclosed		
estimate sheet: PO/WO no.		- Not require	<u></u>	PC	/WO date	e:		_		
		0.0.	1				e e e e e e e e e e e e e e e e e e e			
Remarks: Won	1	(omples	J -							
Approved by Project	ct Man	ager A	pprove	d by I	Design Te	$\overline{}$	Approved	l by M.D.		
Date: Stud yo	low-S		Date: 24	0(i wa	0	Date:	IED BY		
			Sign: N	1	110		Sign RO	a - 00 /		

Notes: 1. This advice must be sent within 7 days of completing work. 2. This form can be used for certifying labour bills, bills for hire charges, earth work, turnkey civil contractors. 3. Wherever not applicable – fill NA. 4. Estimate and measurement sheets are not required for turnkey jobs where guideline rates are clearly given.

EASUREN	MENT SHEET				APPROVED	BY		
COMPANY NAME		SERENE CONSTRUCTION LLP	 		SIGN:			
ROJECT	1111111	SERENE FARMS	-					
	CRIPTION	PAINTING WORK SYED GOLAM SARWAR 25-Jun-20						
REPARED								
	ВТ							
ATE	OR NAME	K SATISH KUMAR		В	c	D	E=AxBxCxD	F
ONTRACT	OR NAIVIE		A		HEIGHT	NOS	QUANTITY	UNITS
al NO	ITEM HEAD	ITEM DISCRIPTION	LENGTH	WIDTH	HEIGHT	1103		
SL NO	TENTIE				1	4	1336	SFT
	Vella == 12 21 28 & 6	Portico MS truss black anamel painting	334	1	1	-		
1	Villa no 12,21,28 & 6				5.5	1	66	sft
	ven 24	Main gate Black painting	12	1	5.5	1		
2	Villa no 31				+	2	2	NOS
		Main door polishing	1	1	1		-	
3	villa no 8 & 19					1	1000	sft
		One coat of painting on side & out side	1000	1	1	1	1000	
4	Villa no 08	stage 2			-		_	
		3148-			-	1	1000	sft
) #III OC	One coat of primer & lappam	1000	1	1	1	1000	1
5	Villa no 06	stage 1						
								-

STIMATE			APPROVED BY			
COMPANY NAME		SERENE CONSTRUCTION LLP				
PROJECT		SERENE FARMS	SIGN:			
	CRIPTION	PAINTING WORK				
PREPARED		SYED GOLAM SARWAR		 		
DATE	701	25-Jun-20		 		
	TOR NAME	K SATISH KUMAR		 		
CONTINAC		ITEM DISCRIPTION	QUANTITY	UNITS	RATE	AMOUNT
SL NO	ITEM HEAD	TIEM DISCRIPTION				
		Portico MS truss black anamel painting	1336	SFT	9	12,024
1	Villa no 12,21,28 & 6	Portico Mis trass black anamer paramet				
2	Villa no 31	Main gate Black painting	66	SFT	9	594
	Villa 110 32		2	nos	2000	4,000
3	villa no 8 & 19	Main door polishing				
		One coat of painting on side & out side	1000	sft	16.5375	16,538
4	Villa no 08	stage 2 (35% of 47.25 = 16.5375)				
			1000	sft	18.9	18,900
5	Villa no 06	One coat of primer & lappam	1000			
		stage 1 (40% of 47.25= 18.9)		+	Total	52,050

